GBI RET 9 9 BEREE — S P/ FERE - NEFHEM G
RIERE (AR

=D

N

THERERMETE? (A)la -b) =a® —=2ab-b* B)a’ +b’ =(a+b)’ (O)(-a+b) =a  -2ab +b*

(D)(=a +b)(=b —a) = -a* - b’

-+ 52(9.2)° B NES R (A)84 (B)8S (C)81 (D)82

5 (2m =3 (3’l+6)x +x =38—RHES > Bldm+n=(A)1 (B)~ 3 (O4 (D)— 4

A BABIEANK « SRS - BITFUTETER 2 (A)A+BE I

(O)A+BE2REHEA (D)AxB R 9RZIHE

CEAE6XT + mx + 125895 2x - 3345 > m=(A) =17 (B)17 (C)16 (D) -16

o

L~ B TFZR AR

HuanT 41X

{gﬂ

THSGRAHTERE 2 (A)— 3EVSIWATFHIR (B)0.2 £ 0.4 IIEF IR (O) i &

4@.

- a0k BIFEEED > #5499 -k B Ak iYRTREERE 7 (A)1 (B)2 (O)8 (D)7
CE-3B4X A+ 1IHFEAR AIX=A)1 B)—1 (O2 O)—

1 -sHEER: O057 2y -6 ) = (1) @(11-—) = (2) (3126’ +126x8+16=_(3)
o . E3x7 —x + 5SS EAB c mREy -4 8BB4 9 » AIZIE B=_( 4
LfL2 2 J . N ”\{m{; I(—}T\}
3 - EH(x mmx)(x —2x - 3)EIEE AT E X TE » Blm=_(5) )
2 11.414214 | 4.472135

4 - —g-;ié;\g —+4/(~ 23) -+0.16 = (6)

! A | 2.000000 | 6.324555
5 - FiFESE  FHEV0112 = (7)) (IR AR/ NEEEE (4D 7 12645751 | 8.366600
6 - T B a V17 BB 5 b » Bl 2a +4b (IR HIRE (8 )

CEa - b BIFEE > #5/240x q #1240 - b B - [l a+ b YA

a=1+10 » b=2+47 » c=3+2 - BELESHEAN (AEV ) (9

AL



AL =ZRKEH™ 9 9 2FEHE
IER

i

~7 EJ N N AR
R B o B 5

— EEE L (BE4AD)
T ETRE (R4 )
1 2 3 J‘% 5

= st OREHE BRI T

1>ﬁKw4bﬁ2fF63—ﬁm%ﬁﬁ%ﬁuwﬁ

2 a-b=7>ab=~2"

(45

Fa“+b” (44 (2)a+b

3 . Al - £ ABCD » AB=4x+2 » BC =3x -1

Hin BE -‘T%”ﬂ?é c F w8 3 GE $Hi{H D -H &4 -
s AFHG [HFE )

A G D

4-#E-2RX-y -1

8 1AYIERIIR > K (1

(2) 4x -2y 925 R (459

\J




